INDEX CARD #7 (BACK & FRONT)

EXPONENTIALS

Y = A (B)x Y = THE NEW VALUE A = INITIAL VALUE B = RATE GROWTH B> 1
X = TIME (USUALLY) DECAY O0<B< 1

*¥**¥***REMEMBER WHEN SOLVING EXPONENTIALS FIRST DIVIDE BY THE A BOX IN YOUR
EXPONENTIAL (BASE RAISED TO A POWER THAT HAS A VARIABLE INIT)  ALWAYS CHECK
TO SEE IF ANYTHING IS BEING ADDED OR SUBTRACTED OR MULTIPLIED BY THE
EXPONENTIAL — MOVE THAT FIRST****

To SOLVE:
1. SEE IF YOU CAN GET COMMON BASES IF YES START W SMALLER NUMBER AND
CHANGE TO A NUMBER RAISED TO A POWER. THEN WRITE THE OTHER SIDE WITH THE
SAME BASE. DROP THE BASES SET EXPONENTS =
2. IF NOT TAKE THE LOG OF BOTH SIDES. THE EXPONENT FALLS FORWARD THEN
DIVIDE BY THE LOG. AND SOLVE

GRAPHING:
1. PUT EQUATION INTO Y = IN CALCULATOR
2. ADJUST YOUR WINDOW IF NECESSARY
3. WRITE DOWN YOUR TABLE

A. SCALE THE GRAPH % —5m%
# of lines
LOGARITHMS
LoG RULES
1. Power Rule: loga®* = xloga (Timber)

2. Multiplication: logab =loga +1logb (Multiplying makes things larger, so does Addition)

3. Division: log% =loga —logb (Division makes things smaller, so does Subtraction)

TO SOLVE.:
1. YOU NEED ONE LOG - USE YOUR LOG RULES TO GET ONE LOG
2. MOVE ANYTHING ADDED/SUBTRACTED OR MULTIPLIED/ DIVIDED BY THE LOG
3. CHANGE TO AN EXPONENTIAL

Logarithm Exponential

y =log , X €> X = b
4. SOLVE (LIKE ABOVE)



GRAPHING:
1. PUT EQUATION INTO Y = IN CALCULATOR MATH A
2. ADJUST YOUR WINDOW IF NECESSARY
3. WRITE DOWN YOUR TABLE

lg#t —Sm#
4. SCALE THE GRAPH #—Sm#%
# of lines
IF JusT LOG ~—~THE BASE IS 10 EXPONENTIALS AND LOGS ARE INVERSES

LN —~ NATURAL LOoG LOG WITH A BASE OF ¢

e TAKE LN TO SOLVE EXPONENTIAL WITH ¢ ON BOTH SIDES

e IF YOU HAVE AN LN REWRITE AS AN EXPONENTIAL WITH ¢ AS YOUR BASE
THEN SOLVE LIKE NORMAL REMEMBER THAT ¢ HAS AN EXPONENT OF 1



